
INSTRUCTION MANUAL

Neomounts B.V.
Wateringweg 62, 2031 EJ Haarlem
The Netherlands | neomounts.com
 

LED-W450BLACK

 

IT

EN 

NL 

DE 

FR 

 

ES 

PT 

DK 

TV wall mount

TV wandsteun

TV Wandhalterung

Support mural pour TV

Supporto TV a parete 

Soporte de pared para TV

Suporte de parede para TV

Vægbeslag TV

NO 

SE 

FI 

PL 

CS 

SK 

RO 

TV veggfeste

TV-väggfäste

TV seinäteline

Uchwyt ścienny do TV

Nástěnný držák na TV

Nástenný držiak na TV

Suport TV de perete

0°
-12°

90
m

m

60mm

502mm
min100~max400mm

30mm

m
in

10
0~

m
ax

40
0m

m
45

2m
m

8mm



PARTS

LED-W450BLACK
100x100 - 

400x400 mm
3 cm0-35 kg

ASTEP 1

Install the wall plate on a wooden stud
Bevestig de muurbeugel aan een houten balk
Installieren Sie die Halterungsplatte auf einem Holz-   
balken
Installez la plaque murale sur un mur en bois ou en
plaque au platre
Installare la piastra di parete su un perno in legno
Fije el soporte de pared a una viga de madera
Instale a placa do suporte de parede num poste de
madeira
Zamontuj płytę ścienną do drewnianej powierzchni

EN
NL
DE

FR

IT
ES
PT

PL

A. (x2) B. (x1)

M-F. (x4) M-G. (x4) W-A. (x4) W-B. (x4) W-C. (x4)

C. 4mm
(x1)

M-A. M6x14
(x4)

M-B. M8x16
(x4)

M-C. M6x30
(x4)

M-D. M8x35
(x4)

M-E. D8
(x4)

Tool PencilTool Pencil Drill Tape measu

B

55mm ø 4.5mm
(ø 3/16")(2.2")

W-A

W-C



 
 
 
 
 
 
 

Install the wall plate on a solid brick or concrete wall
Bevestig de muurbeugel aan een stevige stenen of
betonnen muur
Installieren Sie die Halterungsplatte an einer soliden
Ziegel- oder Betonwand
Installez la plaque murale sur un mur de brique ou
de béton
Installare la piastra di parete su un muro di mattoni
o cemento
Fije el soporte de pared a una piedra sólida o muro
de hormigón
Instale a placa do suporte de parede numa parede 
sólida de tijolo ou betão
Zamontuj płytę ścienną do ściany z cegły lub betonu

EN
NL

DE

FR

IT

ES

PT

PL

ape measure

ø 10mm
(ø 3/8")

B

60mm
(2.4")

W-CW-B W-A

BSTEP 1



STEP 2

STEP 3

Install the adapter brackets
Installeer de adaptersteunen
Installieren Sie die Adapterhalterungen
Installez les supports d'adaptation
Installare le staffe di adattamento
Instale los soportes adaptadores
Instalar os suportes do adaptador
Zainstaluj wsporniki adaptera

EN
NL
DE
FR
IT
ES
PT
PL

Attach the screen to the bracket, secure and level it
Bevestig het scherm aan de beugel, zet vast en lijn uit
Befestigen Sie den Bildschirm an der Halterung, sichern 
Sie sie und richten Sie sie aus
Fixer l'écran au support, le fixer et le niveler
Fissare lo schermo alla staffa, fissarlo e livellarlo
Fije la pantalla al soporte, fíjela y nivélela
Fixar o ecrã no suporte, fixá-lo e nivelá-lo
Przymocuj ekran do wspornika, zabezpiecz go i wypo-
ziomuj

EN
NL
DE

FR
IT
ES
PT
PL

* Not Included

A

M-A M-B

M-E M-E

M-C M-D

M-F

M-G

8mm

1

C

2 3



STEP 4

STEP 5

Adjust the mount to the desired position
Stel de steun in op de gewenste positie
Stellen Sie die Halterung auf die gewünschte 
Position ein
Ajustez le support à la position souhaitée
Regolare il supporto nella posizione desiderata
Ajuste el soporte a la posición deseada
Ajuste o suporte na posição desejada
Dostosuj pozycję uchwytu do twoich wymagań

EN
NL
DE

FR
IT
ES
PT
PL

Pull the straps to release the screen 
Trek aan de riempjes om het scherm los te koppelen 
Ziehen Sie an den Bandern, um den Bildschirm zu lësen
Tirez les sangles pour déconnecter l'écran 
Tirare le cinghie per rilasciare la schermo 
Tire de las correas para desconectar la pantalla 
Puxe a alça para soltar a tela 
Pociqgnij pasek, aby zwolnié telewizor  

EN
NL
DE
FR
IT
ES
PT
PL

-12°   

0°   







25.02


